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Note: Q1 is compulsory and solve any FOUR from the remaining SIX questions.

Q1) 20 Marks (Compulsory)

Q1) GST collections topped the Rs 1 lakh crores mark for December, but auto sales numbers for the month came
in weak. Nifty futures in Singapore signaled range bound trade ahead. Markets globally cheered the efforts by
China’s central bank to support its slowing economy and emergence of clarity over the signing of US-China trade
deal. Tech view:
Nifty support at 12,150 Nifty50 on Wednesday settled near the 12,200 mark after trading in a thin range for the
day. The index formed an indecisive Spinning Top on the daily chart. Analysts said levels below 12,150 could
trigger a correction in the market and see resistance in the 12,250-12,290 range.
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Looking at the above market condition
a) formulate the bull call spread strategy
b) Analyze the payoft table

Ques 1: An investor in India anticipated that the price of Cotton will fall and so took a short position on Cotton.
The investor short sold 1000000 Kg Cotton. On 4 Jan, 2019, the investor anticipated that for the coming six
months the price of cotton will rise. How should he hedge the risk for six month period?
Attempt Any FOUR from the Remaining SIX Questions
Q2) Any two from (a) or (b) or (c)
a) What is the result if the strike price of the put is higher than the strike price of the call in a strangle?
b) Compare I'TM, OTM and ATM call and put option and how they vary w.r.t to delta?
¢) Elaborate the meaning of gamma of an option position? What are the risks in the situation where the gamma is
highly positive and the delta is zero?

Q3) Any two from (a) or (b) or (c)

(5x2) = 10 Marks

(5x2) = 10 Marks
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a) What is meant by protective put? Analyze the situation when it is useful?
b) Outline the difference between implied volatility and historical volatility?
¢) Using the CAPM Framework explain the beta of an option?

Q4) Any two from (a) or (b) or (c) ———— (5x2) = 10 Marks

a) How is delta hedging strategy useful in making profit from the portfolio?

b) Elaborate on the advantages of derivative market over equity market?

¢) A 3-month call with a strike price of Rs.25 costs Rs. 2. A 3-month put with a strike pride of Rs 20 costs Rs 3. A
trader uses the options to create a strangle. For what 2 values of the stock price 3 months from now will the trader
breakeven?

QS) Any two from (a) or (b) or (c) ———— (5x2) = 10 Marks

a) Infer VaR from the following statement “5-day VaR with 99% confidence level is 1.1 crore”.

b) How is binomial model used to build a risk free portfolio?

¢) Elaborate on the steps how you can calculate the historical volatility using the closing price of the stocks.

Q6) Any two from (a) or (b) or (c) ——— (5x2) = 10 Marks

a) Explain the movement of the Black Scohles model variables with respect to premium of the stock?

b) If delta neutral strategy minimizes the risk of movement of the market in upward and downward direction, then
how can the investor earn profit?

¢) Outline the difference between the forward contract and future contract?

Q7) Any two from (a) or (b) or (c) ——— (5x2) = 10 Marks

a) Explain the concept of delta hedging using straddle strategy?

b) Outline the difference between term structure and volatility smile?

¢) Using a example explain when the concept of maintenance margin and initial margin.
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